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[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

anj
cu

PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 4.59|M/kWh

HAEEDEE

447

BaA M /kWh

(1) BRE B Bl = (R EHMlAE —37,200M) x HAEBH 1,000 =
20234108 ~2023F 12 A D E 5 #HEHEIK

EBEDSE

4.59

BABEDNSE

447

A: 1KY O FH R im g 86,220 M 0.4699
B: 1t&H =Y DT HLNGIEE 95,661 M 0.0000
C: 1tdp1=Y DFEH A ERMHE 26,598 M Y 0.7879
FEHRFMER = Axa +BxB +VXy =61,500 1  (100AKEMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 9.37
B: ETIABEEEMFRiR) 8.00
C: BhNZFEEEE M (Fiik) 18.00
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F/kWh

[SE=-%:3--Xii

0.189 M

Fral e EELEE

0.184 M
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0.00
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PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 5.13|F4/kWh

HAEEDEE

BaA 4.96|FM/kWh

(1) PR¥ B BBl = (R EHMlAE —31,400M) x EAEBEH 1,000 =
20234108 ~2023F 12 A D E 5 #HEHEIK

EBEDSE

513

BABEDNSE

4.96

A: 1KY O FH R im g 86,220 M 0.1152
B: 1t&H =Y DT HLNGIEE 95,661 M 0.2714
C: 1tdp1=Y DFEH A ERMHE 26,598 M Y 0.7386
FEHRFMER = Axa +BxB +VXy =55500F  (100AR&EMERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 9.36
B: ETIABEEEMFRiR) 7.00
C: BhNZFEEEE M (Fiik) 14.00
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F/kWh

[SE=-%:3--Xii
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0.206 M
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PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 4.91|M/kWh

HAEEDEE

BaA 4.84|M/kWh

(1) PR¥ B BBl = (R EHlAE —44,200M) x EEEBH 1,000 =
20234108 ~2023F 12 A D E 5 #HEHEIK

EBEDSE

491

BABEDNSE

4.84

A: 1KY O FH R im g 86,220 M 0.1970
B: 1t&H =Y DT HLNGIEE 95,661 M 0.4435
C: 1tdp1=Y DFEH A ERMHE 26,598 M Y 0.2512
FEHRFMER = Axa +BxB +VXy =66100F  (100AXREMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 10.03
B: ETIABEEEMFRiR) 7.00
C: BhNZFEEEE M (Fiik) 14.00

F/kWh
F/kWh

[SE=-%:3--Xii

0.224 M

Fral e EELEE

0.221 M

0.00
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PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 3.06|/kWh

HAEEDEE

BaA 3.01|/kWh

(1) PR¥ B S BBl = (SR EHlAE —45,900) x EAEBH 1,000 =
20234108 ~2023F 12 A D E 5 #HEHEIK

EBEDSE

3.06

BABEDNSE

3.01

A: 1KY O FH R im g 86,220 M 0.0275
B: 1t&H =Y DT HLNGIEE 95,661 M 0.4792
C: 1tH1=Y DA Fifhite 26,598 M Y 0.4275
FEHRFMER = Axa +BxB +VXy =59600M  (100AKEMERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 9.65
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00

F/kWh
F/kWh

[SE=-%:3--Xii
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0.00

0.00

F/kWh
FM/kWh

Uk




EEENTIVZIEE-RHISE]

2024% 3A%

MHEFHBEEM@O LMo

TRERHOSHREBDY . E@ALBLEFFS,
BHOBEHS[CBENIMHBRSREETE . TROBYSHOELET,

gremz

BT LRNT—

X (T, B IRICKBDIES I E (REDHESFIEHIA1.80M/kWh) Z M B FREBEMA S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

anj
cu

PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 4.32|M/kWh

HAEEDEE

BaA 4.26|M/kWh

(1) PR B Bl = (R EHMEAE —21,900M) x HAEE{H 1,000 =
20234108 ~2023F 12 A D E 5 #HEHEIK

EBEDSE

4.32

BABEDNSE

4.26

A: 1KY O FH R im g 86,220 M 0.2303
B: 1t&H =Y DT HLNGIEE 95,661 M 0.0000
C: 1tH1=Y DA Fifhite 26,598 M Y 1.1441
FEHRFMER = Axa +BxB +VXy =50300H  (100AKEMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 9.03
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00

F/kWh
F/kWh

[SE=-%:3--Xii
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PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 4.20|M/kWh

HAEEDEE

BaA 4.15|M/kWh

(1) PR BBl = (R EHMEAE —27,100M) x HEEEH 1,000 =
20234108 ~2023F 12 A D E 5 #HEHEIK

EBEDSE

4.20

BABEDNSE

415

A: 1KY O FH R im g 86,220 M 0.0140
B: 1t&H =Y DT HLNGIEE 95,661 M 0.3483
C: 1tdp1=Y DFEH A ERMHE 26,598 M Y 0.7227
FEHRRFMER = Axa +BxB +VXxy =53700F  (100AKEMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 8.81
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00

F/kWh
F/kWh

[SE=-%:3--Xii
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PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 6.06 |4 /kWh

HAEEDEE

BaA 5.88|F1/kWh

(1) PR¥ B S BBl = (S EHMliAE —26,000) x EAEBH 1,000 =
20234108 ~2023F 12 A D E 5 #HEHEIK

EBEDSE

6.06

BABEDNSE

5.88

A: 1KY O FH R im g 86,220 M 0.1543
B: 1t&H =Y DT HLNGIEE 95,661 M 0.1322
C: 1tdp1=Y DFEH A ERMHE 26,598 M Y 0.9761
FEHRRFMER = Axa +BxB +VXy =51900M  (100AXREMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 8.81
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00

F/kWh
F/kWh

[SE=-%:3--Xii

0.234 M

Fral e EELEE

0.227 M

0.00

0.00
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PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 4.79|M/kWh

HAEEDEE

BaA 4.67|M/kWh

(1) PR¥ B S BBl = (S EHMliAE —26,000) x EAEBH 1,000 =
20234108 ~2023F 12 A D E 5 #HEHEIK

EBEDSE

4.79

BABEDNSE

4.67

A: 1KY O FH R im g 86,220 M 0.2104
B: 1t&H =Y DT HLNGIEE 95,661 M 0.0541
C: 1tdp1=Y DFEH A ERMHE 26,598 M Y 1.0588
FEHRFMER = Axa +BxB +VXy =51500M  (100AK&EMEERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 8.77
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00
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[SE=-%:3--Xii

0.188 M
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0.183 M

0.00

0.00
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PAM B SRR =R ERBEME +QEENRAREM

=mEDEE

BaA 254 /kWh

HAEEDEE

BaA 2504 /kWh

(1) PRE B Bl = (R EHEAE —27,400M) x EEEEH 1,000 =
20234108 ~2023F 12 A D E 5 #HEHEIK

EBEDSE

2.54

BABEDNSE

2.50

A: 1KY O FH R im g 86,220 M 0.0053
B: 1t&H =Y DT HLNGIEE 95,661 M 0.1861
C: 1tdp1=Y DFEH A ERMHE 26,598 M Y 1.0757
FEHRFMERE = Axa +BXxB +VXy =46900  (100AKEMERA)

(2) HENFAREM=A<BDIGE. HE HFABEM=(A—B)x50% x 1 +H&HRE) =

A>COIGE . BIENRABEM=(A—C)x50%x (1 +HEHFE) =

A: BIADINT7ISARAEHIE (Fitk) 8.54
B: ETIABEEEMFRiR) 5.00
C: BhNZFEEEE M (Fiik) 13.00
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[SE=-%:3--Xii
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